Class 8 Maths Notes Chapter 13 &=f#fd

—, {53t S JHId 3epfa Bt HHT P ART 3R Bt g3 IHBT URHAY HEardl 8 3R I SMPTd gRI
ftR 5T &1 ) ITHT AT HEd B

— 3TTd P &A% d = TS x TSl

— T BT GABA = (YoTT)? T = (faepui)?
1 b1 T Yol =

— IS BT §heT = £ x 3MUR x 1S

— TR TGS FT &FH = MUR x SHdTs

— FHAGYS BT & = o x Bl BT TUrHBa

— T BT &% = rir? (STR1 r g 1 4T )

— FHAY BT &AD = 1 x (FHRR YT P Targdl T NT) x (b del BI Avaad )
— TP 319 H1 YEIT &% d 39 Hadh! & Shal & gl &b JHH gidl ¢




— YYD YFIT &1l = 2 (Ib + bh + hl)
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— PR P IRI SIRI BT &AHA = YR BT URATY x HHR B Sl
=2(+b)xh

— ot 31 gRT foRkt g3 S1IE &1 AT ST ST Hadrd g

S YT BT AIT =1 xb x h
U9 BT 3dq = 13
9 BT AT = 1irh

e Tcm3=1mL
e 1L=1000cm3
e 1 m3=1000000cm3=1000L





